Last time  

$$\frac{W(f, 0, \phi)}{W(f, 0, \phi)} = \int_{W(F, 0, \phi)=0}^{U(F, 0, \phi)} \int_{W(F, 0, \phi)=0}^{U(F, 0, \phi)=0} W(f, 0, \phi) = -f(f) g(0) g(\phi)$$

$$\frac{g(\tau_{1}) = g(-\tau_{1})}{g(-\tau_{1})} = \int_{g(0)}^{g(0)} \frac{g'(\theta)}{g(0)} = -m^{2}$$

$$\frac{g(0) = \int_{Sin m0}^{\infty sin m0}}{Sin m0}$$

$$(*) \frac{d}{J_{f}} \left(f^{2} \frac{df}{df}\right) + \left(\lambda f^{2} - \mu\right)f = 0$$

$$(**) \frac{d}{J_{f}} \left(\frac{\sin\phi}{d\phi} \frac{dg}{d\phi}\right) + \left(\mu \sin\phi - m^{2} - m^{2} - \frac{1}{Sin\phi}\right)g = 0$$

$$x = \cos\phi = 0$$

$$\frac{d}{dx} \left[\left(1 - x^{2}\right) \frac{dg}{dx}\right] + \left(\mu - \frac{m^{2}}{I - x^{2}}\right)g = 0$$

$$\begin{aligned} x &= |, \quad n \to 1 \longrightarrow 2 (1-x) \\ \mathcal{M} - \frac{m^2}{1-x_1} \longrightarrow \mathcal{M} - \frac{m^2}{2(1-x)} \\ \frac{d}{dx} \left[ 2 (1-x) \frac{dy}{dx} \right] - \frac{m^2}{2(1-x)} \frac{dy}{dx} = 0. \\ \frac{d}{dx} \left[ 2 (1-x) \frac{dy}{dx} \right] - \frac{m^2}{2(1-x)} \frac{dy}{dx} = 0. \\ \frac{d}{dx} \left[ 2 (1-x) \frac{dy}{dx} \right] - \frac{m^2}{2(1-x)} \frac{dy}{dx} = 0. \\ \frac{d}{dx} \left[ \frac{d}{dx} \right] \longrightarrow \frac{d}{dx} \left[ \frac{d}{dx} \right] - \frac{m^2}{2} \\ \frac{d}{dx} \left[ \frac{d}{dx} \right] - \frac{m^2}{2} \\ \frac{d}{dx} \left[ \frac{d}{dx} \right] - \frac{m^2}{2} \\ \frac{d}{dx} \left[ \frac{d}{dx} \right] \longrightarrow \frac{d}{dx} \\ \frac{d}{dx} \begin{bmatrix} \frac{d}{dx} \\ \frac{d}{dx} \end{bmatrix} \longrightarrow \frac{d}{dx} \\ \frac{d}{dx} \begin{bmatrix} \frac{d}{dx} \\ \frac{d}{dx} \end{bmatrix} \longrightarrow \frac{d}{dx} \\ \frac{d}{dx} \begin{bmatrix} \frac{d}{dx} \\ \frac{d}{dx} \end{bmatrix} \longrightarrow \frac{d}{dx} \\ \frac{d}{dx} \end{bmatrix}$$

Frobenius method: 
$$(m=0)$$
.  
 $g(x) = \sum_{n=0}^{+\infty} a_n x^n$ .  $g'(x) = \sum_{n=0}^{+\infty} a_n x^{n-1}$   
 $g''(x) = \sum_{n=0}^{+\infty} h_{n-1} g_{n+1}^{n-1}$   
 $(1-x^2) \sum_{n=0}^{+\infty} h_{n-1} g_{n+1}^{n-1} g_{n+1}^{n-1}$   
 $h=0$   
 $h$ 

$$\sum_{n=0}^{+\infty} (n+i) (n+$$

$$-\sum_{n=0}^{+\infty} A_n x^n + M \sum_{n=0}^{+\infty} A_n x^n = 0$$

$$(n+1)(n+1)G_{n+2} - (n(n-1)+2n-\mu)G_{n} = \frac{n(n+1)-\mu}{n}$$

$$(n+1)(n+1) - \frac{n}{n}$$

$$(n+2)(n+1) - \frac{n}{n+2}$$

Even Solution:  

$$\begin{aligned}
& A_{2} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{2} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{0} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_{1} = \frac{m}{2} \quad A_{1} & \text{More accurate} \\
& A_$$

Only way to get a solution which  
is not going to infinity at both.  

$$X = \pm 1$$
, is to have  
 $M = h(n+1)$   
because  $a_{n+2} = \frac{-M \pm n(n+1)}{(n+1)(h+2)} a_{n}$ ,  
in which case  $a_{n+2} = 0$ ,  $a_{n+2} = 0$ ,  
 $5 = [n+1]n$  is a polynomial  
For  $m \pm 0$ ,  $simi(ar argument s \pm 1)$   
holds,  $M = n(n+1)$ .  
 $n=0$ ,  $p_0(x) = 1$   
 $n=1$ ,  $p_1(x) = x = u > p$ .

$$n=2, \ p_{2}(x) = \frac{1}{2} (3x^{2} - i)$$

$$P_{0} drigues' \quad formula.$$

$$P_{0}(x) = \frac{1}{2^{h}} \frac{d^{n}}{dx^{n}} (x^{2} - i)^{n}.$$

$$\begin{aligned}
y'(x) &= \sum_{n=0}^{+\infty} a_n x^n \\
Same idea gives. \\
(h_{n+1} &= \frac{2(n+1) \cdot n + n(n-1) - (m - m(m+1))}{(n+1)(n+1)} a_n \\
&= \frac{n(n+2m+1) - (m - m(m+1))}{(n+1)(n+1)} a_n \\
&= \frac{n(n+2m+1) - (m - m(m+1))}{(n+1)(n+1)} a_n \\
&= \frac{(n-1)(n+m)}{(n+2)(n+1)} a_n \\
&= \frac{(n-2)(n+1)}{(n+2)(n+1)} a_n \\
&= \frac{(n+2)(n+1)}{(2n-2+2m)} a_n \\
&= \frac{(n+2)(n+1)}{(2n-2+2m)} a_n \\
&= \frac{(n+2)(n+1)}{(2n+2+2m)} a_n \\
&= \frac{(n+2)(n+1)(m+n-1) \cdots m}{(n+1)!}
\end{aligned}$$

 $\left( \sum_{l=x^{2}}^{\infty} \right)^{hre}$  with power series  $\left( \frac{1}{1-x^{2}} \right)^{m} = \sum_{l=x^{2}}^{\infty} \frac{m(m+1)\cdots(m+n-1)}{n!} x^{2n}$ 

So the solution 
$$y(x)$$
 will blow up  
like  $\left(\frac{1}{1-x^2}\right)^m$  at  $x = t$ 

$$So P_{n}^{m}(x) = (1 - x^{2})^{m/2} \cdot \frac{dm}{dx^{m}} P_{n}(x).$$

$$i's He solution to 
$$\frac{d}{dx} \left( (1 - x^{2}) \frac{dx}{dx} \right) + (m - \frac{m^{2}}{1 + x^{2}}) q = 0.$$$$

 $\frac{\mathcal{X}\left(p^{2} - \frac{\mathcal{A}F}{\mathcal{A}p}\right)}{\mathcal{A}p} + \left(\mathcal{X}p^{2} - n(n\tau)\right)F = 0$ Change of variable 7= VIP =) Z<sup>2</sup> f''(Z) + 2Z f'(Z) + (AZ<sup>2</sup> - n(n+1))f=0 ( different from Bessel . equation)

$$f(t) = \frac{1}{2} - \frac{1}{2} f(t),$$

$$\frac{1}{2}F'(t) + \frac{1}{2}F'(t) + (\lambda t^{2} - |n + t))F = 0.$$

$$F(t) = 7_{n + \frac{t}{2}} (t)$$

$$f(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} (t)$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} (t)$$

$$\frac{1}{2}e^{krmine} + \frac{1}{2} + \frac{1}{2}e^{rs}$$

$$\frac{1}{2}m + \frac{1}{2}.$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$

$$F(t) = e^{-\frac{1}{2}} \cdot 7_{n + \frac{t}{2}} \cdot \frac{1}{2}e^{rs}$$